MAEE ETN LLMHEE

7|&=Y: 2024-04-17

Thel: ke, %
ZetH= Top 5 1D 1W(Avg) 1M Trend £9lE TOP 5 1D 1W(Avg) 1M Trend
1 oi2[= 3x Yt 2|X] F430E ETN 586 454 H2|x QI A 3X 2X4304 ETN 1.00% 3.81%
2 izl 3x ef2|X| Fx10 ETN 212 63 H2|x QI A 2X 2R304 ETN 0.63% 2.32%
3 oj2l= 2| x| 05130 ETN(H) 136 272 H2|x QI A 3X 24104 ETN 0.40% 1.46%
4 t2|= QA 2X O|=X430 ETN(H) 101 73 H2| = oI A 2X 2A{10H ETN 0.18% 0.98%
5 oj2l= 2| x| O|=xH10E ETN(H) 63 49 o2l= el A Zx430E ETN 0.17% 0.98%
EHl: pp
7| EXH4t 7HESEE YTM YIM(%) 1D 1M Chg BEI (Break-Even Inflation) ot= 0=
H2|= QI o|d FxY ETN Al2|= 066 -0.02 001 BEl (==X-E7IX 22|) =2 2.97 243
Halx 2104 ETN A2l = 363 -000 -0.12 Moyl | -0.02 0.05
H2l= Ix30E ETN Al2|= 343 -001  -007 271 ¢z f=AE Mgel 20244 48
H2|x 238 ETN Al2|= 347 000 -0.04 CcpI7|=€ 20244 28
2| = 2HY5E ETN A2 = 353  -000 -0.08 FSE=N| 0.217%| 0.506%
2= oj= AEo|d I ETN(H) Al2l= 223 007 -025 AztA 7|=| 2.605% | 6.071%
2= 0j=x110'3 ETN(H) Al2|= 466 002 -0.32 /0] 2K 10K AS o[ I K| L 2|2 LW F= 2t F2| X HE
2| 0|30 ETNH) Al2|= 476 001 -029
2| X KAP 37H& St ETN 345 000 -0.00
2| = KAP 67H& St ETN 342 -000 -0.03

ol2|= KIS 1 St ETN 340 -000 1.28
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M 7EEF A FE(YTM)
e F=3E =9 HIZ Za2|(yTn H2LChH|
KR103503G865 27}01750-2806(18-5) 20% 0.322 -0.023
KR103503GA66 £7}01125-3006(20-5) 30% 0.632 -0.020
KAP 2IZ2|018 =1 TR x| KR103503GC64 27}01625-3206(22-6) 50% 0.812 0.020
= - - ° N v
(HI2| X AE o] ™ I ETN A2|=)
Rl (ZIZRpA B 100%  0.660 -0.021
KR103502GC65 =103375-3206(F122-5) 8% 3637 -0.003
KR103502GCC8 =104250-3212(F122-14)  24% 3.642 -0.003
KAP =104 TR | KR103502GD64 =1103250-3306(F1123-5)  38% 3.637 0.003
L - 4 - 0 A =V
(HI2|X= ZxH10d ETN A2 =)
KR103502GDC6 2104125-3312(21223-11)  30% 4 -0
Klg= (ZIERHE Ha) 100%  3.635 -0.003
KR103502GC99 =103125-5209(F122-9)  20% 3.445 -0.010
KR103502GD31 =1103250-5303(F123-2)  30% 3435 -0.010
KAP =230 TR | KR103502GD98 =103625-5309(F1123-7)  50% 3422 0018
L - 4 - o K =V
(M| = Zx430d ETN A2 =)
Rl (7| ERpA B 100%  3.431 -0.014
KR103501GC66 =1103125-2506(F1122-4) 8% 3.465 0.005
KR103501GCCO =104250-2512(F122-13)  24% 3470 -0.007
KAP =34 TR X+ KR103501GD65 21103125-2606(F1123-4)  38% 3.480 0.002
L - L - o K =V
(HI2|= =2xH3'E ETN Al2|X)
KR103501GDC8 2103875-2612(21123-10) 30% 3 -0
Rl (ZIZ=RHA EH) 100% 3472 -0.004
KR103501GC90 =103125-2709(F122-8)  20% 3512 -0.005
KR103501GD32 =1103250-2803(F123-1)  30% 3.525 -0.005
KAP =5\ TR X+ KR103501GD99 =1103500-2809(F1123-6)  50% 3.540 0.00
il - 123- b . -0.005
(HI2|= 2xH5'E ETN A2 X)
Rl (ZIZ=RHA EH) 100%  3.530 -0.005
US91282CEZ05 TIPS 0 5/8 07/15/32 8% 2.199 0.079
US91282CGK18 TIPS 1.125 01/15/33 24% 2.256 0.078
KAP 0= Q122011 =4 TR XI5 A2IZ) US91282CHPY5 TIPS 1.375 07/15/33 38% 2.199 0.049
— . 0 . g
(H2|= o]z e E2[o] X ETN(H)
US91282CJY84 TIPS 1.75 01/15/34 30% 2 0
Rl (ZIZ=RHA EF) 100% 2230 0.067




US91282CHC82 T 33/8 05/15/33 20%  4.661 0.017
US91282CHT18 T3 7/8 08/15/33 30% 4660 0.016
KAP D =#108 TR |- $91282C)J18 1/2 11/15/33 09 6 0.016

u 1) T41/211/15/ 50% 4657 X

(2= o0]=x{10d ETN(H) Al2|X)

Rl (ZIZ=RHA H) 100%  4.659 0.017
US912810TR95 T 35/8 05/15/53 20% 4767 0.008
US912810TT51 T 4 1/8 08/15/53 30% 4764 0.010
KAP O[=XH30d TR X| $912810TV08 3/4 11 3 09 2 0.009

u TV T 43/411/15/5 50% 475 X

(HI2|= 0]=x{30'3 ETN(H) Al2|X)
R|== (ZIZ=RHA H) 100%  4.759 0.009
KR310101GC79 £0003330-2407-02 40% 3.450 0.000
KR310102GD77 £0H03600-2407-01 30% 3450 0.000
o

KAP Sotxf 370 &+ X5 — —_
KR310104AE39 £ 0tDC024-0625-0910 30% 3.450 0.000
R|4= (7| =Xt BR) 100%  3.450 0.000
KR310101GCA2 £0t04120-2410-02 40% 3420 -0.005
KR310101GD94 £0003670-2409-01 30% 3.425 -0.005

o

KAP SHi 670 S+ X — —
KR310101GDB8 £0t03730-2411-01 30% 3415 0.000
R|== (ZIZ=RHA H) 100% 3420 -0.003
KR310102GC37 £0+02320-2503-03 40% 3377 0.003
KR310101GE36 £0H03410-2503-01 30% 3455 -0.006

KIS SOHH 110 F59X| 4 —
KR310101GD45 £0+03280-2504-02 30% 3.380 -0.001
Rl (ZIZ=RHA EH) 100%  3.404 -0.001




